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ABROAD

A. harsh

B. overseas
C. selfish
D. truthful

Answer: B

Explanation:
When someone is abroad, it usually means that they are away, overseas, or in a foreign country.

CONCISE

A. brief

B. difficult

C. lengthy

D. reasonable

Answer: A

Explanation:
When something is described as concise, it usually means that it is brief or compact.

LEVITY

A. attended
B. delivered
C. happiness Correct
D. prepared

Answer: C

Explanation:
Levity means happiness or silliness.
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RASH

A. area

B. careless
C. plan

D. resist

Answer: B

Explanation:
When something is described as rash, it usually means that it is careless or bold.

MOURN

A.cry

B. direction
C. event

D. plan

Answer: A

Explanation:
When someone mourns, it means that they are crying or filled with regret.

RUMINATE

A. concern
B. decision
C. hesitation
D. reflect

Answer: D

Explanation:
When someone ruminates, it means that they are reflecting, thinking, or brainstorming about

something or someone.
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BANISH

A. experiences
B. pleasures
C. remove

D. solutions

Answer: C

Explanation:
When it is said that someone has been banished, it means that they have been removed or dismissed
from a place.

DISABLE

A. damage
B. lecture
C. rebuke
D. replace

Answer: A

Explanation:
To disable means that something is damaged or harmed.

John buys 100 shares of stock at $100 per share. The price goes up by 10% and he sells 50 shares. Then,
prices drop by 10% and he sells his remaining 50 shares. How much did he get for the last 50?

A. $4900
B. 54950
C. $5000
D. $5500

Answer: B

Explanation:
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The stock first increased by 10%, that is, by $10 (10% of $100) to $110 per share. Then, the price
decreased by $11 (10% of $110) so that the sale price was $110-S11 = $99 per share, and the sale price
for 50 shares was 99x$50-$4950.

Question: 10

A bag of coffee costs $9.85 and contains 16 ounces of coffee. Which of the following best represents the
cost per ounce?

A. 50.62
B. $0.64
C. $0.65
D. $0.67

Answer: A

Explanation:

The cost per ounce can be calculated by dividing the cost of the bag by the number of ounces the bag
contains. Thus, the cost per ounce can be calculated by writing $9.85 16, which equals approximately
$0.62 per ounce.
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